

## **FIBONACCI** NUMBERS AND RECURRENCES

Fibonacci





## Fibonacci function fib(0) = 0But sequence described fib(1) = 1much earlier in India: fib(n) = fib(n-1) + fib(n-2) for $n \ge 2$ Virahańka 600-800 Gopala before 1135 0, 1, 1, 2, 3, 5, 8, 13, 21, ... Hemacandra about1150 In his book in 1202 titled Liber Abaci The so-called Fibonacci Has nothing to do with the numbers in ancient and famous pianist Liberaci medieval India. Parmanad Singh, 1985

## Fibonacci function (year 1202)

```
fib(0) = 0
fib(1) = 1
fib(n) = fib(n-1) + fib(n-2) for n \ge 2
/** Return fib(n). Precondition: n \ge 0.*/
public static int f(int n) {
  if (n \le 1) return n;
  return f(n-1) + f(n-2);
}
0, 1, 1, 2, 3, 5, 8, 13, 21, ...
```













## Uses of Fibonacci sequence in CS

Fibonacci search

11

Fibonacci heap data strcture

Fibonacci cubes: graphs used for interconnecting parallel and distributed systems



Recursion for fib: f(n) = f(n-1) + f(n-2)

```
We can prove that T(n) is O(2^n)
```

13

```
It's a "proof by induction". Proof by induction is not covered in this course. But we can give you an idea about why T(n) is O(2^n)
```

 $T(n) \le c*2^n$  for  $n \ge N$ 

$T(0) = \alpha$ $T(1) = \alpha$ $T(1) = \alpha$ $T(n) = \alpha + T(n-1) + T(n-2)$ $T(0) = a \le a * 2^{0}$ $T(1) = a \le a * 2^{1}$	Recursion for fib:	f(n) = f(n-1) + f(n-2)
$\begin{array}{llllllllllllllllllllllllllllllllllll$	14	
	$\begin{split} &T(0) = a \\ &T(1) = a \\ &T(n) = a + T(n\text{-}1) + T(n\text{-}2) \\ &T(0) = a  \leq a * 2^0 \\ &T(1) = a  \leq a * 2^1 \end{split}$	$\begin{array}{rl} T(n) <= c^{\ast}2^{n} \ \mbox{for } n >= N \\ \hline T(2) \\ = & < Definition > \\ a + T(1) + T(0) \\ \leq & < look \ to \ the \ left > \\ a + a^{\ast}2^{1} + a^{\ast}2^{0} \\ = & < arithmetic > \\ a^{\ast}(4) \\ = & < arithmetic > \\ a^{\ast}2^{2} \end{array}$

ſ

Recursion for fib:	f(n) = f(n-1) + f(n-2)
T(0) = a T(1) = a T(n) = T(n-1) + T(n-2) $T(0) = a \le a * 2^{0}$ $T(1) = a \le a * 2^{1}$ $T(2) = a \le a * 2^{2}$	$\begin{array}{rcl} \hline T(n) &<= c^* 2^n \ \mbox{for } n >= N \\ \hline T(3) \\ = & < \mbox{Definition} > \\ a + T(2) + T(1) \\ \leq & < \mbox{look to the left} > \\ a + a^* 2^2 + a^* 2^1 \\ = & < \mbox{arithmetic} > \\ a^* (7) \\ \leq & < \mbox{arithmetic} > \\ a^* 2^3 \end{array}$

Recursion for fib: $f(n) = f(n-1) + f(n-2)$					
$\begin{split} T(0) &= \mathfrak{a} \\ T(1) &= \mathfrak{a} \\ T(n) &= T(n\text{-}1) + T(n\text{-}2) \\ T(0) &= \mathfrak{a} &\leq \mathfrak{a} * 2^0 \\ T(1) &= \mathfrak{a} &\leq \mathfrak{a} * 2^1 \end{split}$	$\begin{array}{rl} \hline T(n) <= e^{*2^{n}} & \text{for } n >= N \\ \hline T(4) \\ = & < \text{Definition} > \\ a + T(3) + T(2) \\ \leq & < \text{look to the left} > \\ a + a^{*2^{3}} + a^{*2^{2}} \end{array}$				
$T(2) = a \le a * 2^{2}$ $T(3) = a \le a * 2^{3}$	$= < arithmetic>  a * (13)  \leq < arithmetic>  a * 24$				

	Recursion for fib: $f(n) = f(n-1) + f(n-2)$		
$\begin{split} T(0) &= \alpha \\ T(1) &= \alpha \\ T(n) &= T(n-1) + T(n-2) \\ T(0) &= a \leq a * 2^0 \\ T(1) &= a \leq a * 2^1 \\ T(2) &= a \leq a * 2^2 \\ T(3) &= a \leq a * 2^3 \\ T(4) &= a \leq a * 2^4 \end{split}$	$\begin{array}{r l} \hline T(n) & <= c*2^n \ \ for \ n >= N \\ & T(5) \\ & < Definition > \\ & a+T(4)+T(3) \\ \leq & < look \ to \ the \ left > \\ & a+a*2^4+a*2^3 \\ = & < arithmetic > \\ & a*(25) \\ \leq & < arithmetic > \\ & a*2^5 \end{array}$		

Recursion for fib: $f(n) = f(n-1) + f(n-2)$				
T(0) = a T(1) = a T(n) = T(n-1) + T(n-2) $T(0) = a \le a * 2^{0}$ $T(1) = a \le a * 2^{1}$ $T(2) = a \le a * 2^{2}$ $T(3) = a \le a * 2^{3}$ $T(4) = a \le a * 2^{4}$	$\begin{array}{l} \hline T(n) <= c^{*}2^{n} \ \ for \ n >= N \\ \hline T(k) \\ = & < Definition > \\ a + T(k-1) + T(k-2) \\ \leq & < look \ to \ the \ left > \\ a + a * 2^{k-1} + a * 2^{k-2} \\ = & < arithmetic > \\ a * (1 + 2^{k-1} + 2^{k-2}) \\ \leq & < arithmetic > \\ a * 2^{k} \end{array}$			

Recursion for fib: $f(n) = f(n-1) + f(n-2)$			
$T(0) = \alpha$ $T(1) = \alpha$	$T(n) \le c*2^n \text{ for } n \ge N$		
T(n) = T(n-1) + T(n-2) $T(0) = a \le a * 2^{0}$ $T(1) = a \le a * 2^{1}$	Need a formal proof, somewhere. Uses mathematical induction		
$T(1) = a \le a + 2$ $T(2) = a \le a * 2^{2}$	"Theorem": all odd integers > 2 are prime		
$T(3) = a \le a * 2^{3}$ $T(4) = a \le a * 2^{4}$	3, 5, 7 are primes? yes 9? experimental error		
$T(5) = a \ \le a \ * \ 2^5$	11, 13? Yes. That's enough checking		













Constant-time	Constant-time algorithm!		
Define $\phi = (1 + \gamma)$	√5) / 2	$\phi' = (1 - \sqrt{5}) / 2$	
The golden ratio a	gain.		
Prove by induction	on n that		
fn = $(\phi^n)$	- φ' <sup>n</sup> ) / √5		
We went from O(2	<sup>n</sup> ) to O(1)		